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1. An Atwood Machine consists of masses of 3.8 kg and 4.2 kg. What is the acceleration of the masses? What is the tension 
in the rope?

2. A 3.0 kg counterweight is connected to a 4.5 kg window that freely slides vertically in its frame. How much force must 
you exert to start the window opening with an acceleration of 0.25 m/s2?

3. The smaller mass on an Atwood machine is 5.2 kg. If the masses accelerate at 4.6 m/s2, what is the mass of the second 
object? What is the tension in the rope?

4. The smaller mass on an Atwood machine is 45 kg. If the tension in the rope is 512 N, what is the mass of the second 
object? What is the acceleration of the objects?

Formulas F = ma  FT = Fg + Fa g = 9.81 m/s2
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